Evolution

A. Basically states that modern species evolved from earlier, different species and share a______________  ______________.

B. Charles Darwin proposed that _____________   _______________is the mechanism that causes species to change. The basic steps in natural selection are:

1. Overproduction of offspring.

2. Competition for limited resources.

3. Survival and reproduction OR death.

C. Organisms that are better adapted to their environment and able to reproduce successfully are considered “_______”. Unfit organisms die, and their traits are eventually removed from the gene pool.
NOTE: Evolutionary fitness has nothing to do with physical fitness. Stronger is not always better.

D. Evolution is usually driven by a change in the _________________.
E. To evolve, ________________ must exist in a species BEFORE the environment changes. They do not get a trait just because it is needed.
F. Variations exist primarily as the result of ______________  _______________and ________________.

G. Species with more variation are better able to survive environmental changes.
H. Evolutionary change can occur slowly or happens in quick spurts.

I. Creation of new species can occur if species are separated by ________________ such as water or land features.

J. Evidence in support of evolution comes from the __________  record, _____________, ______________, _____________ and _______________.

